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J| 32,500
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Al 26,000
01 2224l 65,000 50,000 15,000
Ozd2xH & #¢ 65,000, 0003 * 14! 65,000
J| 32,500
< 6,500
Al 26,000
AL 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
01z 10,000 0 10,000
OF=jel-\ AAES 7
10,000, 000& 14! 10,000
AL HAMS(EX) 62,190 390,822 A 328,632
J| 28,395
S 5,679
Al 28,116
101 1A Hl 60,192 371,522 A 311,330
J| 27,396
< 5,479
Al 27,317
04 JIZHHZ2XEE S 60,192 371,522 A 311,330
Og=Es jeli=—ell 58,592
>ol& 50,5003 201 %251 25,351
J| 12,676
< 2,535
Al 10,140
PAlRS+E 505
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>FE=s 50,5003 «201x52 5,252
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| 2,626
= 525
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D&z 4,242 ,000& 20! 8,484
J| 4,242
< 848
Al 3,394
>EAZ 2,600,000& x2¢! 5,200
| 2,600
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Al 2,080
>ZAad ¥ nsE XUl 250,000 x221x12& 6,000
| 3,000
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Al 2,400
> &0 100,000& 201 x12& 2,400
| 1,200
< 240
Al 960
DAHEE =2 2,600,000& %201 5,200
> Il = 4l 100, 000& »20! 200
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< 80
Al 320
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800,000 » 14! 800
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01 At 22l 1,998 2,000 A2
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01 922724l 50,000 50,000 0
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405 XH &k S| 300 0 300
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ORXIGALE SrE Y ZALZAIMA 25 22|
46,248,000 » 14! 46,248
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01 AP 22| d| 10,000 9,000 1,000
O1 Lut=24| 10,000
PEESE Y A2EH| 7,500,000& *1 7,500
= 2,250
Al 5,250
DOIX|MHETZZ)H2Y 2AIS
2,500,000& 2,500
& 750
Al 1,750
XA EHEHSE 27,700 27,700 0
201 LBt 9| 7,700 7,700 0
01 AP 22| H| 7,700 7,700 0
O1 2Bt=2H| 7,300
DX EE2 & AQE
7,300,000 *1 7,300
03 2g4+g 400
DX 2AFE=E 100,000 *121 x4 3] 400
307 QI2t0| & 20,000 20,000 0
o1 s R=tl 20,000 20,000 0
OXIHEt A2 e EE 20,000,000& x 14! 20,000
A2 2 725,390 645,440 79,950
J| 230,525
o 75,697
Al 419,168
HAAUZSRHEYH 2H(EX) 160,000 160,000 0
J| 80,000
o=} 16,000
Al 64,000
307 QI2t0| ™ 160,000 160,000 0
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=} 16,000
Al 64,000
05 QIZ2t E 2 160,000 160,000 0
OFNAHLSAHE 2HHl 160,000,000 14! 160,000
J| 80,000
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Al 64,000
HUHLSRHEHS S 35,000 35,000 0
307 2iz2tol & 35,000 35,000 0
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J| 30,000
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Al 24,000
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05 QIZtR E 2 11,520 11,520 0
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80,000 x1201x12& 11,520
= 2,304
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OFNMEEA Al =EHWE A&
1,000,000 «1A! 1,000
ASISEXAIE SAL HLMA 1,440 1,440 0
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